T
=
o

=

1/c do/dsum p_ [GeV]
|_\
(@)

[EEN
o
R

[EEY

Ratio to CMS

0.5

7000 GeV pp Underlying Event
T r T Tyt ro oo ot T T
= Scalar Z(pT) (pT > 20) =
= =
L _
= EL“!!\!\EF =
= 'y Bm =
— .. =y -
[ ‘. 1 ]

0...’ !E
= ¢ !B =
— L - =
— *o = -
— e ! |
- ... B ]
"'*Q.. !‘ﬂ

= 0...,,_.’.“ \5 - =
— "*Q_ ﬂ n ]
B "0..,___’ . _
L " COClmm

= Ra e W=
— m CMS KR Y 3
~  --93-- Herwig 7.2.1 default i R
| ¢ Sherpa 2.2.9 default ’¢¢’__
S o I S T T U U EY PR R R
K =
man ¥ .
e -
- DG fatat e \ -
_— U5 gggeaaEEs EE‘BEE ] _
| EG Y /E'i:]\ _ T

L 4w M,
| . AT _

I N Ly L L
0 10 20 30

sum p_ [GeV]

Rivet 3.1.10, = 3.6M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


